A £ 0l & AF & S

20233 =0lat S22 0II=SESH M

Al A

SN MESI
Mo 2OD|EMBEY
Tl MASS ol2H| N (ABIUHIIZ=L3IH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MES I 981,528 1,198,370 A216,842
= 765,601
Albl 191,399
Tl 24,528
EP SRS - b S 966,800 1,184,002 A217,202
= 765,601
Al 191,399
Tl 9,800
NASE 2l N (AZS0IISSERH) 966,800 1,184,002 217,202
= 765,601
Altl 191,399
Tl 9,800
°I2=20 AZHIXE 757,142 785,933 A28,791
= 605,714
AltI 151,428
307 lztol & 757,142 785,933 28,791
= 605,714
Altl 151,428
01 22X+ &H| 757,142 785,933 N28,791
O2g30 d=dl K& 757,142,000& 757,142
= 605,714
Alt] 161,428
Slgg0 ALHEFA 171,207 174,159 A2,952
= 136,966
AltI 34,241
307 212+01& 171,207 174,159 AN2,952
= 136,966
AltI 34,241
01 22X+ 2H| 171,207 174,159 N2,952
Ofga0 HAZHERX
171,207 ,000& 171,207
= 136,966
Al 34,241
Slzs0 gR2cl 28,651 37,934 9,283
= 22,921
AlHI 5,730
201 223 10,231 12,330 A2,099
= 8,185
AltI 2,046
01 At22t2lt] 10,231 12,330 /2,099
OAtell2tel =241 S 10,231,000& 10,231
= 8,185
Altl 2,046




FA SE22F0
Mo 2OD|EMBEY
Cel: MASZE 92| X (AZS0II2SE5H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 18,120 18,120 0
= 14,49%6
Albl 3,624
01 =LHAHI 18,120 18,120 0
O2 S0 2eIAt =L 0]
15,600,000 15,600
= 12,480
AlHI 3,120
O&ZAE) B2 L DSEN S
2,520,000 2,520
= 2,016
AlHI 504
203 HR=AH] 300 300 0
= 240
Alt] 60
03 A=A PR FA| 300 300 0
O2AZZSUHAIE = JRFAY|
300,000& 300
= 240
AlH] 60
Glla11]] 9,800 10,160 A360
801 OflelH 9,800 10,160 A360
01 Zetolblbl 9,800 10,160 A360
OoullblHl 9,800,000& 9,800
Neas(da23mn) 14,728 14,368 360
SHNE(A=2SHIISSLEEA) 14,728 14,368 360
=ZAlHIE2X=ttets 14,728 14,368 360
802 gtet=J|IEt 14,728 14,368 360
03 JIEtEtE =S 14,728 14,368 360
Ofzs0 FE0I52 S
14,728,000 14,728




